4 % Name : £ 3% Student ID # :
Quiz 1 MATH 203: Discrete Mathematics I

Consider the equation
T+ + 2y <9

under the conditions
T > 0,332 > 0,373 > 1,%4 > 0.
Count the number of the integer solutions.

Check code = (sum of all digits of your answer) mod 10

Solution.
The equivalent equation is

yr+-+ys =8,

where
Y1 = T1,Y2 = T2, Y3 = T3 — 1, ys = 74.

Therefore, the answer is

5+8—1
8

)

Check code = (sum of all digits of your answer) mod 10 = 8.

CountIntSol 1

Indicating your answer by underlining it or circling it. check code
[=] E_ Compute the check code and fill it into the box on the right. 8

op




4 % Name : £ 3% Student ID # :
Quiz 1 MATH 203: Discrete Mathematics I

Consider the equation
T4+ a3 < 4

under the conditions
L1 > O,Q}'Q > ]-73:3 > 0.

Count the number of the integer solutions.

Check code = (sum of all digits of your answer) mod 10

Solution.
The equivalent equation is

Y1+ -+ =3,

where
Y1 =T1,Y2 = T2 — 1,y3 = x3.

Therefore, the answer is

3

(17)-m

Check code = (sum of all digits of your answer) mod 10 = 2.

CountIntSol 2

Indicating your answer by underlining it or circling it. check code
Compute the check code and fill it into the box on the right. 2




4 % Name :

£ 3% Student ID # :
Quiz 1

MATH 203: Discrete Mathematics |

Consider the equation
T+ +axy <7
under the conditions

T 20,332 20,373 > 1,%4 > L.

Count the number of the integer solutions.

Check code = (sum of all digits of your answer) mod 10

Solution.
The equivalent equation is

Y+ +ys =9,

where

Y1 =21,Y2 = T2, ys =23 — Lys = x4 — 1.
Therefore, the answer is

—1
<5+i ):.

Check code = (sum of all digits of your answer) mod 10 = 9.

CountIntSol 3

Indicating your answer by underlining it or circling it. check code
(=] o] Compute the check code and fill it into the box on the right.
I

E 9




4 % Name : £ 3% Student ID # :
Quiz 1 MATH 203: Discrete Mathematics I

Consider the equation
T+ F+ax3 =17
under the conditions
L1 > O,Q}'Q > ]-73:3 > 1.

Count the number of the integer solutions.

Check code = (sum of all digits of your answer) mod 10

Solution.
The equivalent equation is

Yit oty =5,

where
Y1 =T1,Yo = To — 1,ys = 23 — 1.

Therefore, the answer is

5

(015 )

Check code = (sum of all digits of your answer) mod 10 = 3.

CountIntSol 4

Indicating your answer by underlining it or circling it. check code
[=]] A E_ Compute the check code and fill it into the box on the right. 3

[=]




4 % Name : £ 3% Student ID # :
Quiz 1 MATH 203: Discrete Mathematics I

Consider the equation
T+ F+as =17

under the conditions
Ty Z 1,372 Z O,.Tg Z 173:'4 2 0,375 2 0.
Count the number of the integer solutions.

Check code = (sum of all digits of your answer) mod 10

Solution.
The equivalent equation is

Y+ +ys =9,

where
y1 =1 — Lyo = x9,y3 = w3 — 1, ys = 24, Y5 = Ts.

Therefore, the answer is

—1
<5+i ):.

Check code = (sum of all digits of your answer) mod 10 = 9.

CountIntSol 5

Indicating your answer by underlining it or circling it. check code
Compute the check code and fill it into the box on the right. 9

E.'.'f'




4 % Name : £ 3% Student ID # :

Quiz 1 MATH 203: Discrete Mathematics I

Consider the equation
T4+ a5 < 4

under the conditions
Ty Z 1,372 Z 1,.T3 Z 0,3:'4 2 0,375 2 0.
Count the number of the integer solutions.

Check code = (sum of all digits of your answer) mod 10

Solution.
The equivalent equation is

Y+t =2,
where

i =x1— Lyy=x0—1,y3 = 3,Ys = T4,y5 = 5.

Therefore, the answer is

64+2—1
2

)

Check code = (sum of all digits of your answer) mod 10 = 3.

CountIntSol 6

[=]

Indicating your answer by underlining it or circling it.

check code

Compute the check code and fill it into the box on the right.

3




4 % Name : £ 3% Student ID # :
Quiz 1 MATH 203: Discrete Mathematics I

Consider the equation
T+ + 2y <5

under the conditions
T > 1)'232 > 0,373 > O,.',U4 > 0.
Count the number of the integer solutions.

Check code = (sum of all digits of your answer) mod 10

Solution.
The equivalent equation is

ht-tys =4,
where
1 =x1— Lys = 22, y3 = T3, Ya = Ty,
Therefore, the answer is

(ri)m

4

Check code = (sum of all digits of your answer) mod 10 = 7.

CountlntSol 7 Indicating your answer by underlining it or circling it. check code

E'E:-IE Compute the check code and fill it into the box on the right. 7
. -
Eh%ﬁ




4 % Name : £ 3% Student ID # :
Quiz 1 MATH 203: Discrete Mathematics I

Consider the equation
T1+---+wx3 =28
under the conditions
L1 > 1,.1]'2 > 0,333 > 0.

Count the number of the integer solutions.

Check code = (sum of all digits of your answer) mod 10

Solution.
The equivalent equation is

Yty =T,

where
y1 =1 — 1, y0 = 29,3 = T3.

Therefore, the answer is

7

(o7

Check code = (sum of all digits of your answer) mod 10 = 9.

CountIntSol 8

] Indicating your answer by underlining it or circling it. check code
[=] E Compute the check code and fill it into the box on the right. 9

[=]




4 % Name : £ 3% Student ID # :
Quiz 1 MATH 203: Discrete Mathematics I

Consider the equation
T+ -+ <8

under the conditions
T > 1)'232 > 0,373 > O,.',U4 > 0.
Count the number of the integer solutions.

Check code = (sum of all digits of your answer) mod 10

Solution.
The equivalent equation is

ity =17,

where
y1 =11 — Liys = w2, y3 = T3, ys = 24.

Therefore, the answer is

S+7—1
7

=

Check code = (sum of all digits of your answer) mod 10 = 6.

CountIntSol 9

i Indicating your answer by underlining it or circling it. check code
[=] 'l;'E Compute the check code and fill it into the box on the right. 6




4 % Name : £ 3% Student ID # :

Quiz 1 MATH 203: Discrete Mathematics I

Consider the equation
T1+---+x4 =29
under the conditions
T > 0,332 > 1,373 > 1,%4 > 0.

Count the number of the integer solutions.

Check code = (sum of all digits of your answer) mod 10

Solution.
The equivalent equation is

Y+ +ys =3,
where

y1=x1,Y2 =22 — Lys =23 — 1, y4 = 24.

Therefore, the answer is

4+3-1
3

)

Check code = (sum of all digits of your answer) mod 10 = 2.

CountIntSol 10 Indicating your answer by underlining it or circling it.

Compute the check code and fill it into the box on the right.

check code

2




